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1. Use proper notation. Use the basic derivative rules f) g(w) = — (first rewrite in exponent form)
we have developed to find the derivatives of 4/wb
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h) Suppose in the previous part the function f(t) rep-
resents the position of an object at time t. What is
the instantaneous velocity at time ¢t = 1?
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2. Compute and compare the derivatives of
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c) Were they the same? (They should not bel!)



4. a) Close Reading: In Section 3.3, the authors state what they believe is a remarkable fact about the exponential
function. What is it?
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b) Close Reading: Read ahead in Section 3.4. The authors use a ‘useful tactic’ in the proof of the product rule.
Explain what the tactic is.
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See P 1S4

5. a) Do page 151 #28. Read the instructions first!
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b) Do page 151 #30.
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c) Do page 151 #38.
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